
Correction Interrogation écrite n°6 : Coordonnées           Sujet A 
 

A] Londres (+50 ° ; 0°)                                              Tokyo (+35 ° ; +135°)                 

Nouvelle Orléans (+30 ° ;  −90°)                       Sao Paulo (−20° ; −45°)  

 

B]  

𝐴(3 ; 0 ; 4) 𝐵(0 ; 7 ; 0) 𝐶(3 ; 7 ; 0) 𝐷(3 ; 0 ; 0) 𝐸(3 ; 0 ; 5) 𝐹(3 ; 7 ; 5) 
𝐺(0 ; 7 ; 5) 𝐻(0 ; 0 ; 5) 𝐿(1 ; 3 ; 0) 𝑀(1 ; 7 ; 4)   

 

 

 

 

 

Correction Interrogation écrite n°6 : Coordonnées           Sujet B 

A] Los Angeles (+35 ° ; −120°)                                    Quito (+0 ° ; −75°)                 

Kinshasa (−5 ° ;  +20°)                                            Calcutta (+20° ; +90°)  

 
B] 

𝐴(3 ; 2 ; 0) 𝐵(0 ; 7 ; 0) 𝐶(3 ; 7 ; 0) 𝐷(3 ; 0 ; 0) 𝐸(3 ; 0 ; 5) 𝐹(3 ; 7 ; 5) 
𝐺(0 ; 7 ; 5) 𝐻(0 ; 0 ; 5) 𝐿(3 ; 5 ; 2) 𝑀(0 ; 6 ; 3)   

 


